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5) Distributive 6) Associative

A 4x9=0x4 A 9x1=0
B 4x0+2)=(#x9)+@x2) B 9x6-6x9
C4xl=4 C.9x(6x3)=0x6)x3

D 4x©x)=@x9)x2 D.9x(6+3)=0x6)=©x3)
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7) Commutative 8) Identity

A 4x@x5=@xDx5 A TXE+)=(x3)*(xD)
B. 4x7=7x4 B. 7x3=3x7
C.4x(T+5)=@xT)+@x5) C 7x@xY=(7x3)x2

D 4x1=4 D.7x1=7
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9) Associative 10) Distributive

A 5x8=8x5 A 2x©x5=2x9)x5
B.5x(8x2)=(5%8)x2 B.2x(9+5)=(2x9)+(2x5)
C.5x(8+2)=(5x8)+(5x2) C2x1=2

D.5x1=5 D.2x9=0x2
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11) Distributive 12) Commutative

A 2x1=2 A 8x1=8
B.2x(5+3)=(x5)+(2x3) B 8x(7x=6x7x6
C.2x5=5x2 C.8x7=7x8

D 2x(5x3)=(2x5)x3 D.8x(7+6)=(8xT7)+ (8 x6)
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Match each expression with one of the properties shown.

1 11+0=11
2 XX (yX2Z) = (XXY) X2 a. commutative property of addition M
b. commutative property of multiplication
3. 8+(-8)=0 properyermete
<. associative property of addition
4. 14+20=20+14
E— d. associative property of multiplication
5. 2x3=1 e. additive identity
6. 22x1=22 f. multiplicative identity
- distributive propert
7. (19+12) +8 =19+ (12 +8) s propery
h. additive inverse
8. ax9=9xa o iolieative i
— i multiplicative inverse

9. 7(4+11) = 7(4) +7(11)
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n-1=n
(19+17) +13 =19 (17 + 13)
7(5-2)=7(5)-7(2)

y+o0=y

ax(bxe)=(axb)xec
14+20=20+14

33+(-33)=0
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1) Distributive 2) Identity

A 5x1=5 A 8x©x5=(8x9)x5
B.5xB+7)=(5x3)+(xT) B 8x(9+5)=(8x9)+(Ex53)
C.5x3=3%5 C 8x1-8

D.Sx@x7)=(5x3)x7 D §x9=9x8
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3) Distributive 4) Associative

A 3x7=7x3 A Sx@x4)=(x9)x4
B.3x(7x2)=@x7)x2 B 5x1=5
C.3x1=3 C.5%9=9x5

D.3x(7+2)=Gx7)+G*2) D 5x©@+4)=(5x9)+(x4)




